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Topic:- Child Development & Pedagogy (CDP)

1) The least important reason for assessment in a child-centred education is / dTd-hiead

e & FeATHA FT G FA HAgcdqol FROT &-

1. monitoring their progress toward those goals / 3T &&T T 3R IeThl YT hr fAIRTAT
el

2. active engagement of students in setting goals for their learning and growth / 3T 3TT&ET

AR A & fav deg [AuiRa & 7 ol f1 a@fhg srefiery
3. determining how to address any gaps / Toh&T 8 37Tl & &I FA Fr YR
4, learn core content knowledge and skills / qET el AT 3R Fiere

Correct Answer :-

« learn core content knowledge and skills / H&I T AT 3R Pl

2) How is aptitude distributed in human beings? / AT afa & yma;ﬁr FE 9w &
fafa &2

1. The distribution is normal. / fJdcRoT AT g1

2. The distribution is scattered. / fTdaRUT 3redeaed gl

3. The distribution is skewed. / faa<or fawd 1

4. The distribution is multifariously. /ﬁFR'UT %%HHTQ‘\{UT %’I

Correct Answer :-

« The distribution is normal. / fAdRoT TOmHERT %’I

3) The mental representations or ideas about what things are and how we deal with them
are called / 1§ IFF 74T ¢ 3R &7 39% W0 F& yAER @ §, 390 RAww § 399
93 ARAF SfawT a1 fAaR # F1 A 8

1. Constructs / TATOT



2. Networks / scdeh
3. Schemas / T&hIAT

4, Structures / GTIAT

Correct Answer :-

« Schemas / ThrAT

4) In a classroom of 15 children where you have 15 different learning styles and 15 different
personalities, child-centred teaching is: / 15 d=aY Y H&T H FgT IS I 15 el
e W Y Aol 3 15 s AfFdeg I a9 €, ara-Hfega Riator:

1. Developing one lesson plan with one mode of teaching / T f&TOT YUTTell & ATY TH IS
AISfel faeh T e

2. Developing a lesson plan by looking at every child and what his or her needs are / Icdieh
g &l CER Teh UIS il AhfAd dl &, b 3HPT SRR FAT &

3. Developing a lesson plan targeting the middle of the class ability wise / &&TT T &THAT &
HEY T AR I U Teh IS ATl fapfdd e

4. Developing a lesson plan that fits all / T TS Tlelell AR iAd Xl g, of T & v
39ged gl

Correct Answer :-

« Developing a lesson plan by looking at every child and what his or her needs are / Ycdeh
g Pl @R Teh UTS Jloldll dhiad Pl 6, b 3T ST FIT gl

5) The theorist remembered as the "Father of Progressive education" is / "Serferefier fram
¥ JaF" & T A Ig e S g Rguiaer -

1. Friedrich Frobel / Waer Whider
2. John Dewey / SiTel $\é’

3. Jean Piaget / SfieT TS

4. Graham Gibbs / IgH Fred

Correct Answer :-
« John Dewey / STl 5\73

6) Piaget named potentialities and abilities as: / AT & &7AaT3T 33X WeIat =« T8
e o g



1. Schema / T&hT#AT

2. Accommodation / EHTAISTT (THIHSLI)
3. Ego centrism / 3IghegdlTd (39N AfegaH)
4, Assimilation / 3TTcH3IAThIOT

Correct Answer :-

« Schema / ThTHAT

7) In Discovery Learning, the teacher plays the role of a of learning. / 3/=dYoT
(FeEmad)) AR A, et A F van 1 s1farenT foremmer €

1. Counsellor / HellgahIX
2. Facilitator / SHeddh
3. Manager / JatTeh

4. Inspirer / U

Correct Answer :-

« Facilitator / SHoddh

8) Special Education is related to : / faaw faram C2ar: ) wafaq §:

1. Training programmes for gifted children / GfdTemel s=al & farw gferaqor COpEr)
2. Training programmes for teachers / fr&Tenr o forw wferetor HIIhe

3. Education for talented people / ITQSTRITST ol & forw fRvem

4. Educational programmes for disabled / fderelrelt & forw Aferr FIwH

Correct Answer :-

« Educational programmes for disabled / TA&aI@ll & forw e FrIwa

9) intelligence is associated with faster development / CHELGGL
daer fww & 31 2

1. No intelligence / g gﬂ'ﬁ' Tl
2. Medium Intelligence / H#EIH ﬂaﬁ

3. Higher / 3T



4. Slower / Aig.

Correct Answer :-

« Higher /3=d

10) How do learning theories characterize the role of the parent in their child’s
development? / 38T R, ATar-Rar 7 sfAwr F 3aF T=a F Rew 7§ @
Rfrea Fa 82

1. As trainers / If18Tehl o ¥ H
2. As teachers / T21&Tehl & &7 &

3. As partners/ﬁq'l?'ﬂ'cﬂﬁ & T H
4. As supporters / THYHT & T 7

Correct Answer :-

o As trainers / 9T21eTh o §T H

11) Sociometric analysis of a group is used in measuring personality as a/an

method. / T THE & FATSATT fARWAOT &1 IUANT FfFdea H fafr &
T & A & A A S g

1. Observational / W&ToT
2. Objective / TEI[ASS
3. Subjective / TTFdAsE

4. Projective / 9&IdY

Correct Answer :-

« Objective / ER—T:lDﬁTVé

12) According to Williamson, which of the following is the benefit of Directive Counseling /

Rfowwas & aqaR, fafaf@a & @ i e gt #71 amr @2

1. Emphasis is on the intellectual rather than the emotional aspect / HTdelTcHs Tgel & Tl

diefter 9T SR fear ST B

2. Does not guide counselee to be efficient and confident / $RTel 3R 3meaEd g & fau
WA o dTel & ARG el HdT Bl

3. Make counselee dependent / WAL ol aTe T TR F7=T)




4. Kills the initiative / 9goT &I adTAT

Correct Answer :-

« Emphasis is on the intellectual rather than the emotional aspect / HTdelTcHS Tgel & Tl

digfe X SR f&ar Smar Bl

13) Orthotic devices are designed primarily to J 3iryffesd 3gsIo #Y AET T
) % fav RBemga frar = B

1. None of these / 318 & IS =IgT

2. support a body part / R & 33 & FHIT ¥

3. repair a body part / R & BEH I AFAT el

4. replace a missing body part / =T el dTel 37911 T STETE o9Te

Correct Answer :-

« support a body part / R & 30 I AT ol

14) Assessments regarding the outcome of students’ learning is known as

assessment. / BT & AT F aRomA F R 7 e H Hediwd &
T # ST AT B

1. Diagnostic / =igTfeleh

2. Benchmark / STHTh

3. Formative / {dellcHD
4. Prognostic / foigreT

Correct Answer :-

« Prognostic / gt

15) Which of the following orientations falls under the stage of conventional morality

according to Kohlberg? / @afaf@a & & &l @ Aol (3NRTeesT), Prgaedr &
AR TR Afaswar & =xor F Hadta Arar 82

1. Orientation towards punishment and obedience/ GUS Tg 33T & 9fa W
(3MRTeere)

2. Social concern and conscience / GTHTTSIE Wﬂﬁ IR A=
3. Morality of universal ethical principles / aasifAs Afas H\(WIT I Afehar



4, Instrumental purpose and exchange / Hglddd 3%@1 3R fafmg

Correct Answer :-

« Social concern and conscience / TTATIOTHR H’é‘lﬂ'ﬂﬁ IR A9

16) Which of the following is not an example of extrinsic motivation? / fAFifaf@a & &

Pl ITETROT FT IgEI0T AL §?
1. Salary / ddel

2. Praise / 9T

3. Passion / Sfe]sT

4. Promotion / Uglealid

Correct Answer :-

» Passion / Slefel
o BN

17) Which of the following is TRUE when the teacher engages in Guidance and counselling

of children with special needs in school education? / STaf fY&T® ﬁa:mmﬂ fram & Ry

HTARIHATIHT aTe Fedl & AR 3 WA & avd WA &, T & & F1 ¥w

82

1. Teacher’s own professional growth is evident / f1&Teh &I I=T caTadT A AT TISC
gl

2. Teacher can get rewards, recognition and promotion / f216T icETgeT, AT 3R YgleaATd
a7 dohot gl

3. Under the teacher's guidance, students will feel secure and more engaged in the learning
process. / f1eTd & #ARTENT H, o7 31 & gfehar & ﬁ?ﬁi\qﬁ 3R 30w egea
AGHH |

4, Under the teacher’s guidance, students get special attention./ T216T & AT H, BT &
Ay 3@ ured g g

Correct Answer :-

« Under the teacher's guidance, students will feel secure and more engaged in the learning

process. / T8 & AN ﬁ,mmﬁmﬁgﬁ%aﬂ?mw
AEGH HI|

18) Which of the following principles refers to the understanding that objects continue to

exist even when they cannot be sensed? / fFTfaf@d HA G #le @r ﬁ{%ﬂﬁ $H HHS &I



Hefita FXar § B avqu a9 ot Aleg wh § 99 35 @ A e @ fwar o
HHT?

1. Conservation / TI&TOT

2. Object permanence / IE] TaTRica
3. Theory of mind / Hel ohT ﬁl?{'iﬂ?r
4. Animism / Sffgdrg

Correct Answer :-

« Object permanence / T&J U

19) Thorndike theory of trial and error learning has emphasized the importance of

./ YIeT-FfE HfterT & aeisEE R & & Agcd W SR

feam 21

1. Motivation / 90T
2. Rewards / QUEPR
3. Praise / 91T

4, Punishment / G3

Correct Answer :-

« Motivation / IO

20) Punishment and rewards are the components of .18 3T WicaEd
& geHh B

1. Behaviourism theory / €gdgRdIq ﬁl’a}’:TI'H

2. Design-Based Research methods / f3SIga-3menia 3-1?1??11?[ fafer
3. Humanism theory / Alladrdrg fagurd

4. Connectivism theory/ HITSThdT AU

Correct Answer :-

« Behaviourism theory / SIdgRdlG TaeHTd

21) Child-centered education uses / STcl-hfgd AT fAFT T ITFT FIAT %:

1. Divergent exposure / [afaer gl



2. Year-end appraisal / a¥-37d H\WI'IW
3. Linear exposure / YT 9EeieT
4. Disciplinary force / 3e]RMTHATcHD Sel

Correct Answer :-

« Divergent exposure / fafaer geeier

22) OCD denotes: / 3TES FT 37T §:

1. Obsessive Conduct Disorder / 3Te0fld Hhasae BT

2. Obsessive Compulsive Disorder / 388 Fqiead 3T

3. Oppositional Compulsive Disease / 3TNToeleTel hFdledd 3dIT
4. Oppositional Cognitive Disorder / 3qifSrere Fiesifea BT

Correct Answer :-

« Obsessive Compulsive Disorder / 3Ts0if8@ad Feufeda BE3ET

23) The same-sex friendship prevails during ./ FATEA-foer fR=ar & g
yafad gt 8

1. Early adolescence / URTAS TheiRrasar
2. Early childhood / YR8 sSageT
3. Late adolescence / AET TohenRTa<€T

4. Late childhood / ALT dd49ed

Correct Answer :-

« Early adolescence / URTAS fheirasar

24) The flexibility of children to adjust to any circumstance is known as ./ fonelt st
Rfeufa & gaoT @ a a4t & adua &t & T H AT AT

1. Rigidity / T&dl
2. Desirability / aT&ei1adr
3. Inability / T&THAT

4. Plasticity / TeleT2ileldl



Correct Answer :-

« Plasticity / &eleTeiTerdr

25) What IQ score tends to identify gifted children? / Sfasimemell a=al i ygdarT HI &
FIF-H1 JEFY FPR Tged g 87

1. 170 or higher / 170 T 318
2. 130 or higher / 130 IT 378
3. 70 or higher / 70 JT 378

4. 120 or higher / 120 3T 37+

Correct Answer :-

« 130 or higher / 130 3T 3

26) What type of response is learned through the process of classical conditioning? /
AT ITaera (FeTfAher HIATAT) T gfFar & amegw F Fw gawr A gfafea
e Fret 82

1. Unconditioned response / ygﬁvraaa: gfafear
2. Reinforced response / Yafeld 9fafshar

3. Conditioned response / a'l?l'l?lﬁg'%l?f CIGIERIN

4, Neutral response / deEd FTfshdr

Correct Answer :-

« Conditioned response / aﬂ@'ﬁjﬁ'ﬁ EIGIER

27) The best method to study growth and development of the child is / f&dt
T @Y e 3R e 71 rvae T 1 gafeawr ada T @

1. Comparative Method / Jelelicaeh fafer

2. Developmental method / faerarcas fafer

3. Statistical Method/ @ifEIhT fafer

4. Psychoanalytic method / #AIfa2evuTcAs® fafer

Correct Answer :-

. Developmental method / fasrarcaAs fafer



28) Hierarchy of needs is an important perspective of motivation was propounded by / TFRIRATHT
FT YSTTHHA, IO FT TF Ageaqor IR ¢, O g% gamr wfawfea fram o o

1. Maslow / ATEAT
2. Piaget / OIS
3. Pavlov / 9Tdelld
4. Freud / 1IS

Correct Answer :-

« Maslow / #ATEST

29) Which of the following operations helps us to validate information? / AFIfaf@d A &
i W - (M) T TTTFR) F AT T & A FLdl 872

1. Evaluation /EFJ\FJW

2. Divergent thinking / 379aRT =i
3. Convergent thinking / 3THERY RiasT
4. Cognition / T31TeT

Correct Answer :-

» Evaluation / HedTehel

30) Among the following, mutual support is found more in/ fAFIfaf@d ¥ ¥ IREIRF
AT 39 3¥F g Frar §:

1. Groups / €¥g
2. Teams / €T

3. Society / HHATST
4. Classrooms / haTTITE

Correct Answer :-

o Teams/&IH

Topic:- General English(L1GE)

1) Read the following passage and answer the question given below:



Genetic engineering can be defined as the laboratory technology used to modify the hereditary
code of a living cell, giving it new or unique abilities. Biotechnology requires the involvement of
chemical engineers since it utilizes a collection of industrially based production techniques. The
output of this technology includes many human and animal health-care products, agricultural
chemicals, speciality chemicals, and products. This is usually accomplished through
fermentation, which can be defined as the process of growing a culture of micro organisms in a
nutritive medium to produce a useful and desirable product.

Choose the option opposite to the word unique.
1. Commonplace

2. Exemplary

3. Alone

4. Novel

Correct Answer :-
« Commonplace

2) Read the following passage and answer the question given below:

Genetic engineering can be defined as the laboratory technology used to modify the hereditary
code of a living cell, giving it new or unigue abilities. Biotechnology requires the involvement of
chemical engineers since it utilizes a collection of industrially based production techniques. The
output of this technology includes many human and animal health-care products, agricultural
chemicals, speciality chemicals, and products. This is usually accomplished through
fermentation, which can be defined as the process of growing a culture of micro organisms in a
nutritive medium to produce a useful and desirable product.

Which branch of engineers are in demand in the field of Biotechnology?
1. Civil

2. Chemical

3. Genetic

4. Mechanical

Correct Answer :-

¢ Chemical

3) Read the following passage and answer the question given below:



Genetic engineering can be defined as the laboratory technology used to modify the hereditary
code of a living cell, giving it new or unique abilities. Biotechnology requires the involvement of
chemical engineers since it utilizes a collection of industrially based production techniques. The
output of this technology includes many human and animal health-care products, agricultural
chemicals, speciality chemicals, and products. This is usually accomplished through
fermentation, which can be defined as the process of growing a culture of micro organisms in a
nutritive medium to produce a useful and desirable product.

In the passage, growing a culture of micro organisms in a nutritive medium to produce a useful
and desirable product is termed

1. Heredity Code

2. Fermentation

3. Laboratory Technology
4. Genetic Engineering

Correct Answer :-

« Fermentation

4) Read the following passage and answer the question given below:

Genetic engineering can be defined as the laboratory technology used to modify the hereditary
code of a living cell, giving it new or unique abilities. Biotechnology requires the involvement of
chemical engineers since it utilizes a collection of industrially based production techniques. The
output of this technology includes many human and animal health-care products, agricultural
chemicals, speciality chemicals, and products. This is usually accomplished through
fermentation, which can be defined as the process of growing a culture of micro organisms in a
nutritive medium to produce a useful and desirable product.

The function of a genetic engineer is to

1. modify the genes in only animal cell

2. involve chemical engineers into their field of study
3. make nutrition products

4. make a new and useful product

Correct Answer :-

« make a new and useful product

5) Read the following passage and answer the question given below:



Frank McCourt, who taught writing for many years in the public school system, waited more
than forty years to tell the story of his childhood in his book Angela’s Ashes. McCourt had a
father who drank away his family’s money, and a mother who thus felt she had to beg to feed
her family. The family was too poor to afford sheets or blankets for their flea-infested bed, too
poor to buy shoes for the children, too poor to get milk for the new baby. By 11, Frank was the
chief breadwinner for the family, stealing bread and milk so the family has something to eat. By
15, he lost his first girlfriend to tuberculosis. By 19, he saved enough money to escape from
Ireland to the United States.

In the passage, what does the word breadwinner mean?
1. An earning member

2. A bread-award winner

3. One who wins bread

4. One who steals bread

Correct Answer :-

« An earning member

6) Read the following passage and answer the question given below:

Frank McCourt, who taught writing for many years in the public school system, waited more
than forty years to tell the story of his childhood in his book Angela’s Ashes. McCourt had a
father who drank away his family’s money, and a mother who thus felt she had to beg to feed
her family. The family was too poor to afford sheets or blankets for their flea-infested bed, too
poor to buy shoes for the children, too poor to get milk for the new baby. By 11, Frank was the
chief breadwinner for the family, stealing bread and milk so the family has something to eat. By
15, he lost his first girlfriend to tuberculosis. By 19, he saved enough money to escape from
Ireland to the United States.

Give the opposite of the word saved.

1. Squandered
2. Earned

3. Collected
4, Spended

Correct Answer :-

» Squandered



7) Read the following passage and answer the question given below:

Frank McCourt, who taught writing for many years in the public school system, waited more
than forty years to tell the story of his childhood in his book Angela’s Ashes. McCourt had a
father who drank away his family’s money, and a mother who thus felt she had to beg to feed
her family. The family was too poor to afford sheets or blankets for their flea-infested bed, too
poor to buy shoes for the children, too poor to get milk for the new baby. By 11, Frank was the
chief breadwinner for the family, stealing bread and milk so the family has something to eat. By
15, he lost his first girlfriend to tuberculosis. By 19, he saved enough money to escape from
Ireland to the United States.

What is the passage all about?

1. Poverty

2. Frank’s struggle to reach United States
3. The hardships of 1900s

4, The life and struggle of Frank McCourt

Correct Answer :-
« The life and struggle of Frank McCourt

8) Read the following passage and answer the question given below:

Frank McCourt, who taught writing for many years in the public school system, waited more
than forty years to tell the story of his childhood in his book Angela’s Ashes. McCourt had a
father who drank away his family’s money, and a mother who thus felt she had to beg to feed
her family. The family was too poor to afford sheets or blankets for their flea-infested bed, too
poor to buy shoes for the children, too poor to get milk for the new baby. By 11, Frank was the
chief breadwinner for the family, stealing bread and milk so the family has something to eat. By
15, he lost his first girlfriend to tuberculosis. By 19, he saved enough money to escape from
Ireland to the United States.

What does the passage say about Frank’s parents?

1. His father was poor and his mother was forced to beg.

2. His father was an alcoholic and his mother was forced to beg.
3. His father was an alcoholic and his mother, a beggar.

4, His father was a spendthrift and his mother was forced to beg.

Correct Answer :-

« His father was an alcoholic and his mother was forced to beg.



9) Choose the right tag:

We will learn a lot by attending the English course, ?
l.isn'tit

2. shall we

3. won't we

4, don't we

Correct Answer :-

e won't we

10) Rewrite the following changing the active sentence to passive.
The teacher gave students an assignment.

1. An assignment was given by a teacher to the students.

2. Students were given an assignment by the teacher.

3. Students were given assignment by a teacher

4. Students were given by the teacher an assignment.

Correct Answer :-

» Students were given an assignment by the teacher.

11) Choose the appropriate tense to fill in the blank in the given sentence:

Molly is a renowned baker. People queue up for her cakes. She  fresh cakes every day.
1. will bake

2. baked

3. bakes

4. would have baked

Correct Answer :-

« bakes
12) Choose the correct option to indicate the indirect speech of the sentence:
He said, ‘I am going out’.

1. He says that I am going out



2. He said that he was going out.
3. He said that I am going out.

4. He is saying that he was going out.

Correct Answer :-

» He said that he was going out.

13) Fill in the blank with the correct option in the given sentence:

Experts believe that -- stroke, therapy is the only sure-shot way a stroke patient can recover.
1. pre--

2. counter --

3. post --

4. ante --

Correct Answer :-

14) Fill in the blank with the correct option in the given sentence:

People are more recep__ to an idea when it is illustrated by a good story.

1. —tive
2. —ient
3. —ing
4. —tion

Correct Answer :-

15) Choose an appropriate modal for the given sentence:

Do you think we walk faster so that we reach the theatre on time to watch the
beginning of the film?

1. Would
2. Shall

3. Can



4. Should

Correct Answer :-

» Should

16) Choose the most suitable pronoun for the given sentence:

We should all be kind to

1. each other’s
2. each other
3. one another

4, one another’s

Correct Answer :-

» one another

17) Choose the most suitable determiner for the given sentence:

The supervisor said, ¢ has to attend the meeting this evening. It is mandatory.’
1. Anybody

2. Everyone

3. Somebody

4. Someone

Correct Answer :-
« Everyone

18) Choose the option that substitutes the given phrase appropriately.
A cylindrical container used to transport liquids

1. Barrel

2. Bucket

3. Vessel

4. Pipe

Correct Answer :-

e Barrel



19) Choose the option that best explains the highlighted expression:
The thieves broke into a run when they saw people.

1. lost their way

2. running to win a place

3. to suddenly start running

4. to try to run as fast as possible

Correct Answer :-

» to suddenly start running

20) Choose appropriate article for the given sentence:
dictionary that you want is out of print. It should be ready in a week.
1. The
2. A
3. An

4. no article

Correct Answer :-

e The

21) Choose appropriate articles for the given sentence:

____Danube still forms ___ crucial part of ___ nation’s trade and commerce.
1. No article required ... the ... a

2. The ... a ... the

3. The...a ... No article required

4. The ... the ... the

Correct Answer :-

e The..a..the

22) Choose the appropriate prepositions for the given sentence:

We live a world where success is highly valued all fields endeavor.

1.in..in..of



2. on ..by ..with
3. by ...in ... against

4, for...on ... of

Correct Answer :-

If I knew what he wanted, I ..........cceeunne this.
1. would not have permitted

2. would not permit

3. will permitted

4. will not permit

Correct Answer :-
» would not have permitted

24) Choose the appropriate antonym for the highlighted word in the given sentence.

The Internet eradicates the need for face-to-face interaction.
1. condemns

2. necessitates

3. abolishes

4. annihilate

Correct Answer :-

e necessitates

25) Choose the appropriate conjunction for the given sentence.

I did not prepare for the exam, I am horrified.

1. so

2. before

3. when



4. even

Correct Answer :-

26) Choose the appropriate synonym for the highlighted word in the given sentence.

Language is one of the defining characteristics of humans, and one of the key features that
distinguishes them from animals.

1. characters
2. aspects
3. persona

4. abnormalities

Correct Answer :-
e aspects

27) Choose the appropriate option that rewrites the given sentence in its passive voice.
The postman is delivering the letters.

1. Letters are been delivered by postman.

2. The letters have been delivered by the postman.

3. The letters are being delivered by the postman.

4, Letter is delivered by the postman

Correct Answer :-
* The letters are being delivered by the postman.

28) Which of the following options best combines the given sentences?

He took every care. The accident happened.
1. Taking every care, the accident happened.

2. He took every care, yet the accident happened.
3. He took every care, so the accident happened.

4. He took every care and the accident happened.

Correct Answer :-



* He took every care, yet the accident happened.

29) Choose the right tag:

They don’t have classes on Sundays, ?
1. didn’t they
2. don't they
3. did they

4, do they

Correct Answer :-

30) Read the sentence carefully and choose the option that has an error in it:
The frog jump into the well.

1. into

2. The frog

3. jump

4. the well.

Correct Answer :-

Topic:- General Urdu(L2GU)
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